L-TAM Module 1 Section 4 Exercises
. Given lgy = 600 and l5; = 560, determine each of the following:

(a) l5g 25 using the UDD assumption
(b) L5 using the CF assumption

. Given l,; = 1000, and p,; = .95, and ,p,, = .90 determine each of the following:

(a) l45 5 using the UDD assumption
(b) l4g5 using the CF assumption

. Using ILT mortality, determine each of the following:

(2) 9.2965.3 using the UDD assumption
(b) 1 5p72., using the CF assumption

. Given gzp4+x = 0.1 + 0.05k for k=0, 1, 2, and 3, determine each of the following:
(a) 92931 using the UDD assumption

(b) 153, using the CF assumption
(€) 0.410.6930.5 using the UDD assumption

(d) 17j0.8931 using the CF assumption

. Given y g5 = 0.01(k + 1) for k=0, 1, 2, and 3, determine each of the following:

() 2950 using the UDD assumption
(b) 1 5ps1 using the CF assumption
(€) 0.6/0.4950.5 using the UDD assumption

(d) 1.50.7951 using the CF assumption

. Given g, = 0.15 — .05k, for k=0, 1, and 2, determine

(a) p, for 0 <t < 1 using the UDD assumption
(b) p, for 0 <t < 1 using the UDD assumption

From a population of 1000 30-year olds, you are given ,d;, = 20n for 0 < n < 20
and ,,ds, = 30n for 0 < n < 20. Determine 3ypss.

. Given ;p3o = (.9)f for 0 < t < 20 and ,psy, = (.8)" for 0 < t < 20, determine 3,pss.



